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front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
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otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
i F ey FE s cgszy f St | 1
Thermosphere Mcsos;;here Stratosphere Tr0p03phere Ozone Layer lies in
u:ul’ ‘fb’wﬁcjzu}’&‘ - zJUV ']'!J(y:ﬁu)g -'-?-'?’JU-‘?JUJM 3
Fluorine HF UV rays CFCs The causes of ozone depletion is
uii‘;"! Gl Ji‘z""ld%’ 2.4 /.G : -é‘:..t'/}tf*rﬂur 3
Large Small “Stomach vaer Hookworm infects
intestine intestine Y (,:.
£ f")’/? %; MU%_N % %‘ - Sl &é&r;/a[&z(&' 4
q ' Vigrous reactio 68 water with -c'_.b'/( u’f ==
Caesium Strontium Slllcon Sodium < .
: glass trough in to small pieces.
AL/ _ - p
‘ @ T bt e bl S e Ml | S
CaO CaCO; Ca(OH), CO, :
ﬁ;% en NaHCQO; is heated it forms.
\/@/ K & o .
T Iy oy d -3 Q)s “wwijéw/)’/ 6
mol ~ dm’ mol  dm mol dm mal
N Units of molar concentration are
"
_g_t'ndb&wi'd/gd/u:uu:’u:f 7
NaOH Mg(OH), 2 KOH
Which base is used for manufacturing of soap
: Which acid is used for preservation of food.
_4:..} Qdﬂlwfu*xﬁsbfgf:b» 9
CH3COCH; CH;CHO CH,COOH | CH,-CH,~OH | Which one of the followmg compounds is an
aldehyde?
e KT US| 10
C5H| 2 C4Hg C3H6 ‘ Csz . : ) : 1
: Which one of these is a saturated hydrocarbon?
St | o s S Ly e dnsdee i $Dure | 11
Night ~ Anemiain Scurvy Rickets Deficiency of vitamin D causes
blindness baby . |
G- )J/C' 5, } JJ(JF _4,1'1/6' drju‘f = J,SZ',JJ 12
Starch Sucrose Fructose Glucose Which one of the following is a disaccharide?
s . 1033 -1024-50000 (2)
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Answer briefly any Five parts from the followings.

I

5%2=10

What is static equilibrium? Explain with example?

How is the active mass represented?
[s Coal tar a compound? What is the importance of coal tar?

Explain different radicals of butane?-’ji_: ut,.yéfg;..;k? Luéz )

Write down classification of coal?

Why the alkynes are called acetylenes?

Why are the alkanes used as fucl?

Answer briefly any Five parts from the followings. 5x2=10

Why H'" ion act as a Lewis acid?

Define pH. What is the pH of pure w‘ater?

How can you justify that PB(OH)NOS; is a basic salt?
Give the general formula of lipids.

What are the disadvantages of fat soluble vitamins?

Mention the disadvantages of detergents.
What are boiler scalcs? What are their disadvantages?

Why are pesticides used?
Answer briefly any Five parts from the followings.

Why is the temperature of upper stratosphere higher?
How are sulpher containing compounds emitt

ini ed natur ll)@
What do you mean by primary pollutants with c}@p le.

What do you mean by anode mud? ¢! st (v)

Give the reaction of formation of a in the process of solvay.

What is concentration process used in metallurgy of copper?

How are slag and matte removed from the blast furnace?
Part. II

Note: Attémpt any Two Questions.
5.a. Define salts. Explain four methods to prepare soluble salts.

g9x2=

State the law of mass action and derive the expression for

b.
equilibrium constant for a general reaction.
6.a. What is water softening? Describe two methods for the
removal of temporary hardness of water.
b. What are amino Acids? Explain how amino acids are building
blocks of protein?
7.a. Write the advantages of solvay’s process.
b. Explain hydrogenation and halogenation of Alkenes.
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Usé of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
. e bl A BT e s piin | 1
CiaHy CsHyg CsHg CyHq Which one of the following organic compounds is
found in gasoline?
ujZ_l'r.grl&/.b-gfdzr.z_/».gl S e 2
N, +3H, === 2NH,
HyJ2 | HusiNo o | NHNoL Hy | g5 0 K, =2.86 mol™dm®
o Kz U /;( €Ik
H; only N; and H, only NHyonly | Nitrogen and hydrogen yuere reacted together to
make ammonia; Q@\
N, @\y@& 2NH,
&2.86 moldm®
W}@\gﬁb esent in the equilibrium mixture?
@ te Ut ST S | 3
HSO; HSO; 5 507 § |
/2. \p Which ion is the conjugate base of Sulphuric acid?
7 -‘Lt'ﬁbi' L}"[ol{pOH slpH uﬁuﬁ}’/_.,25 ’c| 4
16 14 12 . O '
P The sum of pH and pOH of solution at 25 °C is
e U e RS pier g Sests | 5
(CH3),CHC1 | (CHy),NH €0 | (CH3),CHOH | Identify which one of the following compounds is a
Q Ketone?
(l 5 * . A » vhe f ’ .
cu/HCl | Mg/HCl | Na/HCI Zn/HCI bt fozr b et il | 6
: The reduction of alkyl halides takes place in the presence of
¥ wF Ik Bt cebaige S L /“"“ 7
Glucose Sucrose Cellulose Starch Photosynthesis process produces
SERA | g | g | gedEs Sk S s §d St | 8
Night Anemia in : Deficiency of Vitamin E causes
blindness babies Bty Rkt d .
e k| . .0” P o M . o
[0C0; | COpNy | NpnlOy | COmiH,0 | SOtV Akl b cts | 9
i Infrared radiations emitted by the Earth are
0 and C02 CO;_ and Nz ,Nz and 02 COZ and H20 absorbed by _
235 K30 HH1s 2511 cezr S 115l P | 10
33 Kilometres | 30 kilometres | 15 kilometres | 11 kilometres | About 75% atmosphere’s mass lie within
el 1 s e teForbUmrdhohuuiaidizme | 11
Hepatitis Cholera Yaindice Typhoid Which one of the following diseases causes liver
inflammation?
i o o - QLJ/C—L}.JJ.‘JJMU,:;') J}“;JL}L W12
241K | 24k 'K | 420K | 425K ‘
. Specific heat capacity of water is
fasr § 1 1035 - 1024~ 32000 (2)
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AnSwer briefly any Five parts from the followings. 5x2=10
What do you mean by equilibrium constant?
What do you mean by extent of reaction?
Define homologous series.
Define destructive distillation.
What is difference pitch and coke?
What is difference between aldehydes and ketones?
Why alkynes are called acetylenes?
How can you prepare acetylene from tetrachloroethane?
Answer briefly any Five parts from the followings. ~ 5%x2=10
What are different uses of pH? .
What are complex saits?
How can you justify that Pb(OHINO; is a basic salt?
Give the characteristics of disaccharides?
Plants are source of oils justify?

What is capillary action?

Why are non-polar compounds insoluble in water"%g@

What are the causes of hardness of water?

Answer briefly any Five parts from

CO is considered a health hazard. W

Point out two serious effects gfozene depletion?
@- faluminium ions effect the

Why are the flood risks increasing?

How does high concent

aquatic life?

What is residual 0il? Write down names of its two fractions.
What is calcination in the Solvay’s process?

What do you know about the origin of petroleum?

Write down two benefits of natural fertilizers.
Part 11

Note: Attempt any Two Questions. 9x2=18

Explain the Bronsted-Lowry concept of Acids and Bases. 5
Compare Macroscopic characteristics of forward and 4
reverse reactions.
Explain five important waterborne infectious diseases. 5
Explain the sources and uses of Lipids 4
What is Urea? Explain importance of Urea. 5

- How can you_-prepare Ethene using Ethyl alcohol and 4

Ethyl bromide.
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question.Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbies accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting flnid is not allowed

(D) (C) (B) (A) ‘ QUESTIONS Q-1
e jigd NaHCOES e |

: : o : el
i e T BE RS In Solvay’s process, the product NaHCO5 can be
obtained by maintaining temperature at

NH,OH NaNO; NH,CONH, | NH,COONH,4 The formula of urea is ~- Uy ikl g 2

Bl AU S jv.’./...j Jgftr)'!/‘_ Ju":'-ir‘j; Qu )-c'._;le(tL:JKc 3
BothAandB | Temperature | . ‘/‘r Ju,l o /V" Jl & | The value of K, depends on.
Initial Initial %
. . <2
concentration | concentration %
of Product ofReactant | ~ (]

kek, kik, k/ke ke/k, @V’ K. = 4

H,COH H,CNH, BF;

90% 80% 707 2 s kot f
Anthracite contain the carbon content.
-~ Uy ke ,
oo, CHCl, CH,Cl, CH,CI slrsepind )
The formula of Chloroform is
- ‘ L " . .
» ” » - o= Sl . be .
W | Gk | ke | oy +F /S Bz S o | 8
Lipide Carbohydrate | Nuclic acid ratata ?N'hxch ot‘1e is responsﬁ)lc'for Transmitting genetic
information from generation to generation
5 4 3 2 -‘G&(JH—/ Jiﬁuﬂiu.l_abh 9

Our Planet the earth has Natural systems.

Rrp | R | ey | fas

-(‘_J?.r'.?b(u:):l .10
Thermosphere | Mesosphere | Stratosphere Troposphere

Ozone layer lies in
100° 104.5° 110° 120° - b i EI0 | g
The angle in H,0 molecule is
g | Qg ity LAy el I LT AU | 12

Quick lime | Limewater | Sodalime

Na, zeolite | Permanent hardness is removed by adding

o S 1037-1023-55000 (3)
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Part I

Answer briefly any Five parts from the followings.
What is chemical equilibrium state?
Differentiate between Reversible reactions and Irreversible reactions.

Define Molecular Formula of organic compound.

Write two uses of Natural Gas. 2" ::UWUJ&CUJ (:’uﬁ )
Define carbonization.

Why are the alkanes called “Paraffins”?

Write molecular and structural formula of Eti1yne.

Answer briefly any Five parts from the followings. 5x2=10

Why H' ion acts as a Lewis acid?
Define Salt. Give an example.
Define pH. What is the pH of pure water?
Where are the proteins found?
What is the difference between glucose and fructose?
Why is water called universal solvent?
What is the function of fertilizers? f< ¥U/¥5 71 (viii)
Answer briefly any Five parts from the followings.

What are Secondary Pollutants. Give an example.
Why ozone is not formed in lower stratosphere?
Give harmful effects of SO,

& 1145 2

5x2=10

2019~21 t0 2021 ~ 23 = I LA (A 2A2)1023
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@ What is Fluorosis? S/~ .
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What is greenhouse effect? ?“a.l_ﬁ‘—ﬁ’.l 5104 F
Draw flowsheet diagram of manufacture of urea. -’9&[’!/’& e b dz,t;u@/g
Give two uses of Kerosene oil. 2 oﬂb"’luﬁgf’fg}:’ sl
How NaHCO; is converted to Na,CO; . Give reaction. hﬁ’ el Yr-e b ULt 4 N2, CO, éf ¥ NaHCO,
Define metallurgy. AN
Part II 4) .
Note: Attempt any Two Questions. 9x2=18 </ 7 ezl elirne el

5.a.  Explain the water pollution because of industrial waste.

b.  Describe areversible reaction with the help of an example.

6.a. What is Petroleum. Explain composition and uses of petrol and

petroleum ether.

b. Describe four Physical properties of Alkane.
7T:a.  Define the pH. Describe the methods of measuring pH.

b. Explain the role of carbohydrates in our bodies.

@/}/’ 1038 - 1023
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
cRh | =i/ | cfF | ey e
Byairation | ByBoiling | Byfilteration | By freezing | Temporary hardness is removed by the method

B | FB | Flr | e 2

" el 4

Cooling Boiling Separating Mixing e
technique technique technique technique CUnERRIRINII 2
STz J1d | ST | STt —e b dea B 2T | 3
Diesel oil Fuel oil Lubricating oil | Kerosene oil | One of the oil used as jet fuel is
NEFP | 2 BVBL | P | _[NIBH] ~‘-"‘/ i d’%w'd"j’z’” 4
“TINIH,T DMLIBH) | ™ yg © [2NH] 4 3 §tant expression is
il tre e'a . 2NH3
@ Lfdbrl_)t/é:(a_/..&fwf 5
Na,Si0; CaO NaCl CaCl,
The dtodryagasis
L&
ze bt S | pulf L | o WSS | en T AT Q? S| 6
LS & R4 N >A salt always
Contains
+do Dissolves in ins ions
Forms crystals water of
which conduct water ; Q
- crystallizatio
electricity
52 o Sl | AT e tbll -COOH s/ FE | 7
Esters Alcohols Aldehydes Cal;‘t::(:gzhc The functional group ~COOH is found in
of J 18 JI¥ ST e BeSh SRS | 8
Benzene Glyoxal Glycol Oxalic Acid | The end product of oxidation of acetylene is
oy nk ke Bt e Ca bt Lk | 9
Lipids Sucrose Cellulose Starch Glucose and fructose combine to form.
540 525 #K3s #£30 g2y o399k FEU A |10

40 Kilometre | 25 Kilometre | 35 Kilometre | 30 Kilometre | About 99% atmosphere’s mass lies within

AT | ok | e | e |V c—ulzliaz,,q_%uuﬁ/u?:ngi};ﬁw A1
C‘- LI AT P

Calcium Calcium Calcium Calcium o . v
Cheadate Casbnsts Nitrate Sulhete athtl;gli(n;%s are being damaged by acid rain due to

vy st V= U/ -q-C‘C :fJ:’»'q-J&-r.’“jﬁﬁJﬂztﬂ 12
Typhoid Cholera Dysentery Jaundice The disease causes severe diarrhea and can be fatal.

5 o~ 1039-1023-35000 (4)
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Answer briefly any Five parts from the followings. 5x2=10 ..u‘/ j ..«Ui/" ) !é«tc_—J/ e lSibn 24 (Jlr’

Define chemical Equilibrium state?

Make a graph that shows the establishment of equilibrium state.

gL PN SE AR
b S S i a2 A 2 0T L

Define adduct with example. IR L ey S
Prove that water is an amphoteric species. -4‘-_4_._.( A _J:!G'L:f Sk
How acid react with metals? “g‘:.t'f o tﬁd_’ Sl M
Write Two Isomers of Butane? -4/ /. L /’ i /H,T;: Lu‘f x
Define Benzene. .u:/...g/".&,{ﬁ

What is basic unit of carbohydrates and how is it synthesized?

A
Jdi
i
v
B 4
i

il
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Answer briefly any Five parts from the followings.  5x2=10 —LZIC' /’ ..auzﬁ' él?fétc..éf e LLits 34 dlr

Write name of an acid used in the preservation of food. i érw i Lid i Se# S8
What are the amphoteric substances? g,[!dn_lf = S
Write two physical properties of Acids. /QQéV ..«Ln": J‘J’ »QIA
Write the balanced chemical equation for the formation of giucose. J ...A;l/dl/ uAr‘J d_/ff
What is the difference between ghee and oil? %Q;\ ":_Q/U/Lﬂ J ] ufd‘r
Differentiate between soft water and hard water. % é Ju 0/ 9 Amp,r Hadiy
What is Leaching process? Tl /Lf J” :/ﬁ

Write two properties of water that make it an excellent solvent. @ i At 2y S e ter® il (dL)/u

Answer briefly any Five parts from the followings.

Name the major constituents of troposphere.

Why is CO; called green house gas? ?q.JLL./ U u”r u’f&ujf CO;
Point out two serious effects of O pletion. _é u_ﬁ_r.af/"'ff‘f'l»ﬁé_ b Z.uu';!
State the major sources of CO and CO; emission. & st 1Lt 21 LCO,uC0O
Name the various metallurgical operations. . rL‘L /?/_ TJ? Hail¥

What is the difference between Crude oil and residual oil?

Write down formulae of two copper ores.- 2 Ly i £JA!'»J/__,K (viii)

te O ESTthzimST5/

What is anode mud‘?‘-"g_,l./ i35

Part I r» 2
Note: Attempt any Two Questions. 9x2=18 Ll ezl etrne il
What are industrial effluents? Give their harmful effects. 1+4 ) F bl Z ot Sk It
Explain any four macroscopic characteristics of & ..::.l,n‘; U.C-C Y sey dl:( J “ /-.! d;EI D

dynamic equilibrium.

L F

How is Crude oil refined? Explain two important fractions of 1+2+2 rtﬁ/ /f me’ %) /;":_.L"(N’u‘twc‘f f J b:f

petroleum along with their usage and names. - .»La J = Y1 sl
Explain the oxidation of Acetylene. 2+1+1 u’:é woloy J ﬂgff u( u.’.'*'PJ I
Define Salt, and give the characteristic properties of salts. 1+4 el / uy..:,yf" 7 J J‘J balJ 4\ - /‘." u( <A

Name types of vitamins. Give the 1mportancc of vitamins. i+3 4 A u,l:::élg,( ﬂlfs_u-‘-’ﬁ ({:L(L?f J a7
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Notei- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) ). (B) (A) QUESTIONS Q-1
APl 404 ALy A -4_,34»‘14,1\)4;&5’&&:) 1
Troposphere | Thermosphere | Stratosphere | Mesosphere | Just above the Earth’s Surface is .
MgSO, MgCO; CaCO; Ca(HCO,), -2 SV A LA 2
Temporary hardness is because of
V=44 Q"J)l’ LZJ!K -ﬁ;‘.{f ~+GUJJWU{€ gz—ffjkig"uw"ﬁ”df&k 3
Bromine Fluorine Chlorine Toding Which one of thefollowing gas is used to destroy
harmful bactefia itf water?
( H 5 e % 3
450 °C 400 °C 350 °C 300°C ég@\o~§-“’gf/f/§-/§fjuzw/’ftj’”/ 4
§ iFis heated in furnace upto
A be 4
. 2 s ” . o %@wwz&&iﬂuﬁg‘dlgé—u PCls < Cly»IPCl; biv
teol o L el B @ For reaction between PCl; and Cl; to form PCl; the
_ \i\ @ units of K, are.
sy, 4 2-
wro, | mpo; | HPOD” PO - LI ECCHPO] | 6
¢ The conjugate acid of HPO: s
R s O
-c‘..ﬂ)"/bd 7 Kgﬁ-,g/d' gi
ChHan CaHanya %ﬁm—z CaHanyo ‘ 3 =t
General formula of alkyl radical is.
4H,CO | #ICH,4,CO | »ICH,,CO | COust CHy e fUEUS| 8
CO, H, CO, CO and CH, | Coal gas is mixture of .
CO,H; and CO,CH,; | CO,CH;and
CO; and H, CO, .
' L'/,/:Jf ;’rnu‘t‘gcgﬂ,wr&i/‘;;?l.b’u:/%,i.’y.{l .9
A hydro carbon has ol Uy /0 A E
CoHya CoHay CoHg CoHig molecular formula of CgH 4. What is the molecular
formula of the next member of same homologous series
D/ ts Cyts Eo/ b A/t -%Jﬁd/!eg!fi';l&&t;.?;&{gﬁ-/hg/ .10
Vitamin D Vitamin C Vitamin E Vitamin A | Night blindness is because of deficiency of
0.03* 0.93% 20.94% 78.09% e S T | 11
, Percentage amount of Argon in Air.
s NO, s s0, sLco, 7 so, e tuSiaf el Ao QLT P e | 12
NO, gas SO, gas CO, gas SO; gas Normally rain water is weakly acidic because of

1025 -1022-65000 (3)
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Answer briefly any Five parts from the followings.

5x2=10

Write the use of Oxygen and Nitrogen in the manufacture of chemicals?

_ What is irreversible reaction? Give example.

Define Molecular formula? Give Example.
Write two basic conditions for an element for catenation?
What are Isomerism? Give example.
How is an Amino group tested?
What is meant by Tri-glycerides? Write their general formula?
Write the two properties of polysaccharides?

Answer briefly any Five parts from the followings. 5%x2=10

Water is an amphoteric compound. Give an equation.

Write two uses of Acetic acid.

Why methane is called marsh gas?

Why alkenes are called olefins.

Write composition and boiling range of Diesel oil.
Draw and label the diagram of Bessemer Converter.
Write any two raw materials for solvay’s process.

What is Calcination? Give reaction,

Answer briefly any Five parts from the followi

What do you mean by atmosphere?
{dentify as primary or secondary ai
CHy, NH;, H;S804,0;
How is Ozone layer formed in stratosphere?
What are pollutants and contaminants?

How docs water dissolve sugar and alcohol?

Mention two disadvantages of detergents. -
Why are pesticides used?
What are waterbome infectious diseases?
Part Il
Note: Attempt any Two Questions.
Explain structure of DNA and DNA have genetic code of life.

5.a.

b. How can we predict the extent of reaction by equilibrium

constant?

Define a salt and give the characteristic properties of salts.
b. Explain the reasons why water is considered a universal
solvent.

7.a. Explainthe Bassemenzanon with balance chemical equations.

b. Write any four uses of Ethylene (Ethene)

o

O@xz 10 gSyfeun Linbie §f e dtdivn 470y

9x2=18

Je i Bt

(NS~
Jst

&
.u_’/ /,,/’ eAl2 /"? Ziz é&c.éf St 22 / Jl
o e LS SEH P o T
et PO sed
e syl S )20
S s SIS b G e
et U AT v
et d L SFu

il

v

i
?J.JU:”/GJﬂﬁf?c.)l/u/c__Jiﬁl/fél /il
u:"ﬁuu/u‘fu ';d)’ wviil

-J//futli/"’ﬁiilétc.éfc_gﬁgj)(/u -3/Jfr‘
_é.,uu»-c_uuif/ f"’i..f‘dt i

L Feidme

—e belfu Aodss

@ LU 723 f(Alkenes); oA i

,&76 By id S ST v

Aii

g@%

< _Z.{g,kgﬂlcr(f.ﬂf&bd//r/‘/:' vi
-rf‘?‘jj.'-,Zu»c._éfég.ru"/a/’L}’V vl
o e s Vil

et e A

s SRS S F PPN -V IV
CH,, NHs, H,SO4, 05

‘e G Ao s/ %

Ul Ls&.ﬁifﬂ'ufufi dv

e lnfud Il Sl
-Z:ut_«.ot'l.ﬁ;uéu’w;,

dii

Vi
sl bl Ui S i
e UL dp”»dbi_rw < ofdy i
r;: ..............
-Lf///u“iéuﬂ’}’”:—é/u;
32 LDNA Sy /sy /eobsf =5 JDNA a5
VST B2
1x4=4 éf‘j:J»Jfﬁd/c_.:«Ufr-’/d,ﬁﬁ b
BESL
1+4=5 -é/f"._«l,zy"'(’l&/vlzulé:d/."(ﬁ)l/ .a.6
242 ur)JrJ/J/J’:(dL/DJJZJLUJ._—QYJQI b
-l Lf(u
Sase ’jé;.uibbé_&;{(Balmcc)uﬂ?wLuJ u" S /_/' .a.7
1x4=4 -é‘.’gal}(r:’l/lgaéfé:(ui’)dglﬁl b
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question.Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
#E K H30 ##1s K E3s ez B e300k TS |
11 Km 30 Km 15 Km 35 Km About 99 of atmosphere’s mass lies within
L2 Q¥ | Al Fuy e WP e UL Ay, | 2
Quicklime | Lime water | Na,zeolite Sodalime | Permanent hardness is removed by adding
ity St by xee Which %.C;gf{j)fdl/.cd/ﬂjdu{ctjzij_?/ﬂ 3
Hepatitis Cholera Jaundice Typhoid one of the followin%;%s causes liver inflammation
EELS LSS | 4
450 °C 400 °C 350 °C 300°C @- (7 EERAS LTS
Crud feated in furnace upto
a sk P O \ ) /
ﬁ]d’gid/ Sodss5/8 ulu—"'[ub i u‘-{ld/ ﬁ\)ﬁv u,',’_-)l,Jﬁ.ﬂ_’d,gJ{,‘j 5
7 & Iy (‘/ . —_— .
T AV TR Oy 1 u’g 182 | yasd u’f;'u7 Hgs.fJL— - amic equilibrium
Reaction can e brsls s
no longerbe | Speeds of | Theamount | Tpe @lon
forward and £ ¢
reversed reverse otreactants Ops tO 4
reactions | and produ proceed
are equal are i, AR
N = ] r F
S Ceba el e S G A 6
Na;ySi0; Ca0 NaCl CaCl,
Which one of the salts is used to dry a gas?
J”-')Jf T ;ﬁ-’G‘f (J//’T -u,?%'ff:f_?uﬂd’i.l'f.dﬂ;ﬁluuf 7
Condensation | Resonance { Catenation Isomerism | The ability of carbon atoms to form chain is called
. DL U 511 _c‘;/{b'._ﬁ:"l/kzufc.,uﬁgf_i,yy 8
Silk Nylon Wool Cotton Which one of the following is a synthetic fibre?
Jkgs, | UK | ST ST | tebilud e T A SKMNO, ((Ethene)e™ | .9
Propane Ethene Glyoxal Oxalicacid | Oxidation of ethene with KMnO, produces
Glycol Glycol -
/f,f Juﬁ ik = -;.t‘nlg:c_,;ff&zd"‘w;:; .10
Glucose Sucrose Cellulose Starch Photosynthesis process produces
- = o i te b Sl e osf U sulW g bl | 0
‘ 2 . 3 Normally rain water is weakly acidic due to the pas
.,,,J.,CuuJ,f.ﬁ:_t'n.auu:i’&u;.ﬁmdf 12
O3 NOy SO; CO; Global warming causes rising of sea -‘Lg)':f ] L‘J!(
level, The cause of global warming is
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Answer briefly any Five parts from the followi

Note: Attempt any Two Quésﬁons.

u.“’g.:p’:);llré/:’;du'%l/__,g/?

| /”..rJf
a8: 4 f & 1ias
Part 1

Answer bI:ieﬂy any Five parts from the followings.

Give two characteristics of reversible reactions.

Why are the melting and boiling points of organic compounds low?
Define aromatic compounds. Give an example.

Why are the organic compounds poor conductors of electricity?
Define organic compounds Give an example.

What is the difference between glucose and fructose?

What is the function of DNA?
Answer briefly any Five parts from the followings.
How can you Justify that water is an Amphoteric compound?

Describe two uses of acetic Acid.

Justify that alkanes give substitution reaction.

Why does the burning of alkanes require sufficient supply of oxygen?
What is difference between crude oil and residual 0il? ‘
What is the raw material for the manufacture of Urea?

Write two formulas ef copper ores.

How slag is produced in smelting process?

How waterborne diseases can be preve
How water rises in plants.
State the major sources of CO and CO, emission. (
How does acid rain increase the acidity of soil. \

What are the reasons of waterborne diseases.
How does limestone dissolve in water.

Explain the phenomenon of decreasing temperature in troposphere.

How is Ozone layer formed in stratosphere.
Part 11

What are Polysaccharides? Write any four uses of carbohydrates.
State the Law of mass action and derive the expression for|
Equilibrium Constant for a general reaction.

Give uses of five different Bases in daily life.

Explain two Methods of removing Temporary hardness.
Write the five advantages of Solvay’s process?

Describe two Methods of prepration of Alkynes using

chemical equation?

1028 - 1022 -
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5%2=10
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What is relationship between active mass and rate of reaction?

5x2=10

O

Ox2=

JrJ i Ay
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Note:- You have four choices for cach objective type question as A, B, C and D. The choice, which

front of that question number, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

you think, is correct; fill that circle in

question. Write PAPER CODE, which is printzd on this question peper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (€ (B) (A) QUESTIONS Q-1
Fas oL oL 3T S A sofd Lo SP 2huudszr 3L | 1
Bromine Fluorine Chlorine lodine Which one of the following gases isused to T b
destroy harmful bacterin in water?
5 , jﬁ;'-r.'n;n- by
FeOAICus s CuyS »iCuU 0 CuSulfes Feon 5 -c‘:.ﬁ(c‘;;‘_ 2
CuS and FFeO FeS FeO [FeS and CuS | Matte is a mixture o%
CuyS and Cu,0 and @::f
FeS FcO R
Ca0 CaCO; | Ca(OH), co, & Q)v )& Tt SINaHCOz |
W@%’ah’ G D}B.fis.r-hgated, it forms
o = (’r"}‘}_, L 2
3 - 2 }5\{ PSALEER Ay gy + Brgy = 3y U | 4
cp | _Ba | [P i it
——— ool - Sy - sr R S
[A12(p] | [241(B] [CT? ‘ B ot . i
O For the readlipn 24 gy + Bgy = 3C¢gy the
(@@ expressiqg;';f()'ﬁgf;&uilibrium constant is
- -1—-' ~ PR e 7
&7 u’-(uj,/ Jodastin | J L Lr"(‘d/ bﬂcijF’/dfle‘/b 5
b g &_Jb/u;g’d/ [y teSice2 Y% | Atdynamic equilibrium
Thereaction | $V¥4i4 LA A R
can no longer Itgé ?&iﬁgé’if st The reaction
be reversed. andreverse | e :;mounts stops to
rcaceté?jﬁ ¥€ 1 ofreactaats proceed
and preducts
are cqual
12.61 1231 1397 1.698 te pOHE L+ L Ca(OH); 0.02M | .6
What is the pOH 0f 0.02 M Ca(OH ),?
CnHZn CnHZn+1 CnH”Zn—Z CnH2n+2 "‘:'U/JUJ]ZKJQ%JJ 1 A
General formula of alkyt radical is
CBHZO CBH'lB CHHIG C3I’18 ?QUKJUL_IK(Octanc)u.‘:fT 8
What is the formula of Octanc?
el 1,50, KO NaOl! TSR LS s i TS o | 9
Dehydration of alcohols can be carried out with
Bl N2 s g1 e oSt | 10
| Starch Sucrosc Fructose Glucose Which of the following is a disaccharide?
0, NO, SO, o, e sl sl Emtf |
The cause of plobal warming is
S SRS I ISt et s S T
04 N, Cco Co, —e-U b7 ;f«'ld{xﬁ}bl/’l[b JL‘}-JLfiu'C)I( 19
Which gas protects the Earth’s surface from
_ultraviolet radiations?

1025-1021ar-65000 (4)
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Answer bricfly any Five parts from the followings. 5x2=10 uu_'jfaf‘;a@li:‘/"“féii:zt @};cﬁd.fc_ ufJ_’ijJ; -Z/J!r

Why 15 equilibrium state attzinable from cither way? ‘ -;.ECL_,”u’J‘w{;é‘;_)U‘-"J?{AJ,Q )
Deline Law o Mass Action. -2;{....:}]/‘71}’uj'glv\jh._57- il (i)
Give cquilibriun constany expression lor syuthesis ol anmonia, gj"."‘/f_: 2 (~fU; ol E::"!:_.,JTJJ.Q‘LJ_MCIT)/'—"K: (i)
from nitrogen and hydrogen. b

Deting conjupate ucid and cunjupate base,

Sy BT S Gy)
_c_,;:;{,.néf:l:)JJﬂLr %)
e b et S )
_ze_“;*éiu&'[,cﬁ 7T (vid)

eyt t/ud ShigteaS L T uterd  Guiid)
Answer bricfly any FFive parts frora the followings.  §x2=10 _u‘///’utl;’/"‘ﬁlﬂ(;l.._(jfc:_u.fgf’jbu _'}/Jlr

What is Ozonc hole? ‘-'g.!,fd;rdabl (ii) What are addxt. u@t ns? ?w{/'fa(fd/oﬂ»t @
Write down two uses of ethene.

8z \_«UL‘*"UJ (cthene) crenl  Gii)
Why alkane can’t be oxidized with KMnO, solution?

‘chbfu* Fik ; }\‘mc)Jﬁlaﬁ/fJ:L’I\MnO,; Giv)
What is the difference hetween ghee and oil? éi\ i ul:.u/ui"j f .uldr )
Give two characteristies of polysaccharides.

@ -&{/;abﬁj'gf}ﬂl}di (vi)
Write down names of four regions of atmosphere. % (L f/j“Ju}JlP c'_/,/’“"r”l (vii)
Deline Primary pollutants. Give one example. _é_JdL’..fi-g_uJ/‘d/u’ :Ld/- le  Cviii)
,;z:m -u’f/fwl,l_?/"‘c’:.iflibc,éfc_bﬁJJLJJ ALl

Give two characteristics properties of salts,
Write uses aftwa different bascs,
Give different radicals of iso-butane.

Givewo cauannples alopen chinin orpanic compunuds,

Answer bricfly any Five purts from the followi LN
Which bacteria causes the Cholera? _.:‘:_Q/_-é"-t/u:

et (1 What is hepatitis?® el U e Lf L‘ 6
Why are pesticides used? _J?LL;LJWIU:’C (i)
Write any two preventions of waterbom -d.ruh) % c;df&:b’c.u:’ﬂf S d/dl. Gv)
Write complele chemical cquation for éaleination. --’i—w’ l/\_}"’rd‘(‘.)_ .I.U..m v)

What is the difference between slag and matte?

_,u:lz:u/’u:.:__‘i nlu_@/ (vi)

Whatis gravity separation? ‘....m;l/Uc:_u e tin J‘j (viii) Define gangue. ‘.'c:_J!/U'c'_,ﬂ (vii)

PR v il e R
|
Note: Attempt any Two Questions. 9x2=18 ..u‘f//’._atlié:umr»a.&f._/)
Define an acid and a basce according to Bronsted-Lowry -tu‘/ J/"JJ‘J;!,ulu b L /4 S 88 8y @ s
cunceptand juslity with examples. ,u;lj'l"/‘-

What type of reactions wre given by alkanes? Explain with

}:(l\'w"-i‘._f/"ﬁ:“-IL§/£;fJu/tAllc;1:1CJ)}'fi (b)
___, oy d 1y ‘/LF = :‘”J(Alk.mu )
Pefine functional group, Write down functional proup and -7 J"GL/’JI ni(_)’)ﬁf-u:/..ﬂj'/'&__‘,«:ffg () 6

general formula ofalcohol and ether,

reference to halogenation of alkancs.

-u.'_/r/.‘/’. s JL;L,I,I;.’L,(UI 23!

What arc Monosaccharides. Explain it. Also give its propertics u"/i-;g,.at_,»:»" JUIJ;!-L[/(:.JU:_U:?QGILK‘:’% (b)
Write a comprehensive note on green house effect, -2’:’//’¢)6'b/¢ﬁblufjguf (8) 7
Define water borne diseasces and write name of any four ULl Jd:‘/nic.,....d/" d/ o dba_,fl,v a._dl, )

discases borne by water. ..g_,f_-d:fbr = dLJ "L L

1026 - 1021ar ~ 65000
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D (C) (B) (A) QUESTICONS Q-1
Na,CO4y St Atebion | &4 COy ~~'5—t'%'yub‘;”~:’—f.//i—’if—ﬂqiLJ:J:_:/TL-:’V 1
J L H,L‘L./ s c_J,i./, In Solvay's process slaked lime is used to

Fotin Recover Prepare Prepare

 NayCOy | ammonia | quicklime | COp | e e
— - o o LA I Ay By = 30 ANy | 2
(45 3¢1 | lAP(B] | [24llB] %@J) Pt
LAI1B] [2AJ15] [C) (3¢ . , o S
For the reaction o) + Bigy & 3C(gy the
7 ) uxp%»éﬁ-(% )1 %; cquilibrivnt constant is
LA AT _J'J)’lu:’u:« WKJ«)J/,, o/@uu:f_:b; el "‘ f/ﬁu:kj.)b/)u:u?fﬂd//‘g'd/wﬂ)-’ 3
il u.‘f.’/ il L,YTC_.‘")’QU.J: "_::;"-‘-u"‘; sone t o L ‘
e 11/ " L/ Qb (O AN
2oaed i n I The 2 QE . B : ‘
i = They They never i ‘ "_hc characteristics of reversible reactions are many
R procced in complete Peddyiysro except following one.
They have both way é};\ er
double arrow fesombine
between to form..”
reactants and reactants
products \ :
‘ " _ - e ad E s % —
HPO, | HPOS |MBPO; PO ~e-bo s AERHPOST | 4
i, The conjugate acid of HPOL is
~ 1 T 3 S
CaHan CoHant1 CnHan-2 i CnH?Tka "-"Jr‘lb‘}/’b“ﬂ{/‘jbﬂ 5
: The general formula of alkyle radical is
LVSJJJ,“VQKJ)JEQJVLJ/VQ ‘J_/,‘X‘L;ﬁjb/ul_ﬂ_ .6
) e c c ..ffrgUr‘JU't(X-9?&@1%/};’&2/4_.’-’&/
Coltie Callho 6tz 31y Onc of the hydrocarbons reacts with one mole of
hydrogen to form a saturated hydrocarbon, what
- would be formula of X.
el 1L,80, KO NaO1l H_;_GﬁL_wJﬁfl/[.L/L,L;ttjns,_j,pjfjgfl(gnfﬁaﬁn e
Dehydration of alcohols can be carried out with

Y s iy V2 P 1

Gl ;)/c j_,f/’ Jysb ,.T_,gl/gdbl/_u[c_.u:digjﬁ .8
( Starch \ Suerose | Pructose | Glucose | Whichofthe following is a disaceharide? L,

4 o) e g ey s it ALy 5'{)% L8 et ] v

Troposphere | Themwsphore | Stratosphere | Mesosphere | Justabove the caels surweds L
AN, JESO, SECD, (250, e br il epad eSS OIS Bg b | 10
NO, gas 50, gas co, g(“ S0, gas Normally rain water is weakly acidic beeause of
7 5 ; g e o 5 = O
il ey 6z st e Gorbird FSgul et dizve | 1
Hepatitis Cholern Jaundice Typhoid Which one of the following discase causes liver
inflamation?
: P 77
CaO CaC0, Ca(OH), CO. st P bV S INaHCO52 | 12
When NaH C0O5 is heated it forms

1027-1021ALp-55000 (2)
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Answer bricfly any Five parts from the followings. 5%x2=10 _LJ_://_/,\.:J_J:?/‘?LJZI égc-_,éfc:,.ui'djbu _Z/Jlf

Give two macroscopic characteristics ol Dynamic cquilibrium,

What 1s static equilibrium stare?

S lor? L uSEASE s @)

B YV S C PR T N )

How can you know that a reaction has achicved equilibrium state?
What are indicators, Give example. ,u::dl"'/ujz.,ng)/’.f‘.:i'f ()
How Soluble Salts arc recovercd from water?
Give Formula of Formaldehyde and Acctaldehyde?
Define condensed formula? Give example.
Answer briefly any Five parts from the followings. 5x2=10
What do you know about Hydrogenation of Alkene.
Define Homologous Series.
Why wre the Alkanes called parallios,
Deline Mono Saccharides and give example,

Write structural formula of Fructose,
Whatis the difference between Atmosphere and ouviromcnl@

What do you meant by air pollutants
Answer bricfly any Five parts from the followiflgs\ > 5%2=10

Why watcr is culled a universul solvent?

Define Solt water?
Explain the discase cholera?
Give any two effects of water pollution.
Whatis blister copper? Sesl s e 8+ (vi)
Give two uses ofurea? S/ Fetbin iy (viii)
Partuss st 1

Note: Attempt any Two Questions. 9%x2=18
Explain the Lewis concept of acids and bases with examples.
What type of reactions are given by alkancs? Explain with
reference to halogenation of alkanes.
Write a note on classification of organic compounds.
What are carbohydrates? How monosaccharides are
prepared? Write two characteristics of monosaccharides.

Deline acid rain and also write down its effects,

-

Write a note on any four waterborne discases. u‘._,f/

_zl:.,y/()/b(f/_)d:.- L'j'(lL,J,J/ﬂ..J;’.,- ..’_{( T Gii)

Define Aduct? -LZ/u_‘:’/J\_/(}
Y. LA G o O P RIS
._gj.‘.ﬁu‘!_._f‘/liLg&dl&i&,{b:lykd,u_!rﬁ

Gv)
(vi)
(viD)

Lot S s A Sur 6252 (vidD)
L7 M A Linbe e it 3 A 1

YTV 4 L iz 0,00 sl
ey Py S irn

@<e/ -C“._LBU’J/U)IJG_)\; J\...S.”
{\ f.’i}Jb‘/)l R JJ)‘/C) e
Qy el rjbd/(/b/j//

% .ffug_,‘d”’—;,gfd’u.%),/gr_/f,’;l

What is meant by Atmosphere and state its composition. \ z @

-:{fug{}) VAL Z sl 5
........Jl/l.f i ';:i L

€))
Gi)
Gii)
Giv)
v)
(vi)
(vii)
(viii)

S f B Ll e ttitn 42 )

_wtbbfuﬂux)ru'ﬂfifut

S S it P S Hs

ey S eolosf sk
.,u_’/r{,/-:ol}.‘luﬁj:%.)l!

Define Metallurgy? Sy /ey P34

()
(i)
Gii)
Giv)
v)

What is caleination? ?g.i_.fu;: u/l:'/ (vii)

_L{_’/Q/’cal..fﬁéomruc_‘jﬁd,ﬂ

S S eoon S B AL st
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;

filt that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zere mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D)

(C)

(B) (A) QUESTIONS Q-1
W d St Aaald. I3 Livtes
S a, N, o, e Qe SUs A sl L& e 1
Which gas is used to prepare ammonia
14/ X 2 [ K. is equals to el K| 2
K, 0. K, K,
: ) .,-.’,.! ;- a1
HNO, co, F”H,’Sc;; HCl R ] 3
. - Which one is ngha\n Arrhenius acid.
- d@fpnﬂ L S5 3] a
CH,COOH HNO, HC! H,PO, - il e i
Whic{‘l\ acidis used for food preservation
JEE SV VEY B U g 0&@;\) g bl K 90% Ut Y | 5
Bituminous Anthracite Lignite P@@)Coal having 90% carbon contents is called
el A LST " e bl e AT TS (Akenes) #I| 6
Formic acid Oxalic acid®- v Oxidation of Alkenes produce
£ e UKL L] 7
Cy7H3,COOH | €, H,,COOH T "
Formula of Palmitic acid is
3 " g —
Sty 32y Thousands -< Ui o512y (Ud2i Uiz | 8
Vitamins Lipids Proteins Carbohydrates | of amino acids polymerize to form
e blll LU 99%FK L 2| 9
11 Km 15 Km 35 Km 30 Km bl U 09% KL A
About 99% atmosphere's mass lies with in
e ity Ky ey 10
A40°% 0°C 100 °C 10°C s A AL
Freezing point of water is
et .
e Un SeulsaCl 11
100 gem™ 1 gem” 10 gem™ 2 gcm™ L3 gruse J’ ¥
The density of water at 4°C is
0 Jse STy Sl d e FFS AR | 12
Alcohol Petrol Diese! Oil Kerosene Oil | Which is not a fraction of Petroleum

1085 - 1020- s8000 (1)
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Answer briefly any Five parts from the followings:- 5x2=10 -¢)}}.~>pzﬁ"£!21 ék c;..(jfc.— ' J’,ib.u -l
Define chemical equilibrium state. ke SELSENEL (i)
Why is equilibrium state attainable from either way? < T Feud e & S ’(»'f,j": I (i)
State Law of mass action. ST (i)
How direction of a reaction can be predicted? e Fed L §E e d G ()
Write two physical properties of an acid. @ .:«Ear‘é &.‘b 2 J 3 (v)
Complete and balance given reaction. -2_‘_-7 Gl J“(/J{ [ 'v‘/"ffé) (vi}
KOH + H,50, —? KOH + H,80, —>?

A solution of hydrochloric acid is 0.01 M. What is it pH value? ‘e pHE T 0.01 MF K22 08,50 (vii)
Define mixed sait and give one example. &L EE SN A (i)

Answer briefly any Five parts from the followings:- 5x2=10 —//zfeliz L1721 8} & $e L Ssts -3
Define organic chemistry? _,zgg..é_’ /'"J $ /-4( 7 (i)
Define Homocyclic compounds. Explain their types? _z';.f'ug (lﬁl J ! J'/_,;;/'"J i3 t{.ﬂf{"w’x (ii)
Define Hetrocyclic compounds, Give example. _®t‘>a!vj/ PSS s (i)
Write two uses of Acetylene? Ll s L A5 (iv)

How many Amine acids are synthesized by Human body? 2 - = o wsul Ve uf Je () &LJ" (vi)
@y A a8 i)
LB i (viii)
Answer briefly any Five parts from the@wings:— 5x2=10 _L{&;’auz/‘f‘ém ég aéfa.ufgb(w -4
Write two sources of CO % . e CO (i)

How Dehalogenation of Tetrahalides occur. ﬁ@ e S . 4’&’-}5 SsdxmetZ (v)

Write the Structural Formuia of Triglycerides? %5@
What are Fatty Acids, Give example.

Write down the range of height a erature of mesosphere. -u'f‘ﬁ L z'/;;ﬂ‘ <A J A (i)

Give two effects of acid rai -‘_g/ Gt AL g a i)

Write two effects of water pollution. 2y I AL ;ﬁi s (v) What is hepatitis. -5 EL-/V:"/L’L-? (iv)

Write two uses of Kerosene Oil. & e L J’TJ.”:/;} (vi)

What is the principle of gravity separation? & L_J'Jf’; K ot soam e 5 (i)

What is the principle of Froth flotation process? s l[de’; § 14 -f»';‘si:} {viii}
Part Il o -

Note: Attempt any two questions. 9x2=18 «g{/,};al.mﬁ. :.flﬁly'”c,(jf -
Write down the macroscopic charactristics of dynamic equlibrium. (/5) uj/_/fu‘l}.{ S ESSE L6 O
Define an acid and a base according to Bronsted-Lowry concept  (Z#) aiy/es PSuda it Jbr L FSnl i1 ()
and Justify with examples that water is an amphoteric compound. e K 0 Gg S ooy
Write down five Physical properties of alkanes. (?5) _'af.f{,i:,g»,f J..J’ ég J {Alkanes) ﬁﬂl 0.6
How amino acids are building blocks of Proteins? (A8 51 LU L g 4:_'/;}/.? A (L)
Write any five advantages of Solvay's process. (45) & f-,u. e Sz O7
Describe the two methods to remove the temporary (A4 E gk el L/’f" SRS ()

hardness of water.

1086 - 1020 - 58000
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Note You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
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<15 =0

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly,

Use of ink remover or white correcting fluid i1s not aliowed.

otherwise the student will be responsible for the situation.

(D) {C) ({B) (A) .QUESTIONS Q-1
s P P sl ‘e Lol P LU
Mesosphere | Stratosphere | Thermosphere| Troposphere |Justabove the earth surface is
iy . Jg 8 | e s | Bty | ddydisg T LAY e U IEU T
dipole-dipole |dipole-induced| Hydrogen lon-dipoie )
forces dipole forces bonding forces lonic compounds are soluble in water due to
NH,COONH, | NH,COONH, o NH,CONH, |Formula of ureais s Ul b6y | 3
)’/.’.‘_Jt}:{' ;!L;J’(u":;‘g fJ{ﬂ’d’ _,z-_f._/ ; -;/M r{.vf’ 4
" 17 I s L s ﬁ
Al CRNZEY "’”PJ‘/ L Which on e Tollowing statements is not
Active mass o bl c,t'M}é* < bt gy Q "
represented reaction is
mass of by square taken in fno!ar directly @
substances brackets concen t|ons p;%%"%
&/-vﬁ,{ic//'{‘dl uu'f’o'g’d/ ‘,(./dd:fi, 3 "JI - &/}UJ, =, &ﬁ ook ey e d Kee2| 5
G rSigl b U7 g’ ./{J’fj’{ When th itude of K_i large i
- : -
Reaction Reaction has Re."::t':’en PR i i R il
. mixtu 2 o
negligivte completion almaost all al:gzstciall
products reactants sk
HSO, HSO; 52 SO e Tl B R 6
Which ion is the conjugate base of sulphuric acid?
ACI, H* BF, NH, fe BT el St 7
Which one of the foliowmg is lewis base?
043 u’go'}/. Jz:l’m );; R l,_{/_L“LJ.jé_ul»"Vu - d//» 8
Dalion Berzellius Rutherford Wholer In labortary urea was prepared by
s K J’(I’JL!{ d[&ﬁ’ MIJIfT S Vi3 157 g7 bc,;'rrf J.J'/ 9
Chiloric acid Glyoxal Glycol Oxalic acid { The end product of oxidation of acetylene is
Dt Cets Eets At e Il U ette 2 dSres | 10
Vitamin D Vitamin C Vitamin E Vitamin A | Night blindness is because of deficiency of
Gl i) - S fe. i’r/cfjt; e S S| 11
Starch Fructose Sucrose Glucose Which of the following is a disaccharide?

AL Gl | KE T | KLt | K it | KL, i SEL L LA 12
Beneficial Beneficial Dangerous | Dangerous |yne chemicals used to kill pests are called
inorganic organic organic inorganic
chemicals chemicals chemicals chemicals | pesticides. They are

1087 -1020- 47000 (4)
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Answer briefly any Five parts from the followings:- 5x2=10 “dL2feln L §y el tdits 2

How direction of a reaction can be predicted?
What do you meant by equiibrium constant.
Define reversitle reaction. Give one example.
How can you know that a reaction has achieved an
equiibrium state.
What are the limitations of Arhenius concept.
Define Lowry Bronsted concept of Acid and a base.
Name two Acids used in the manufacture of fertilizer.
How the soluble salts are recovered from water.

Answer briefly any Five parts from the followings:-
What is the importance of natural gas?
Define structural formula with an example?
Explain carboxyl group with an example?
Write down two uses of methane.
How halogenation of alkenes is carried out?
Define monosaccharides and give an example.
How proteins are formed?

What is the importance of vitamins. {Give any two
Answer briefly any Five parts from the fo
Why is CO, called greenhouse gas?

Why catalytic converters are used in
What do you mean by ozone ho
Define water borne diseases.
How waterborne diseases can be prevented?
How CO, is prepared in Solvay's process.
Complete and balance given reaction.
NH Cl+Ca(OH ), ~—— ?

Write down two uses of urea.

Part I

©
-

gsi- 8x2=10 - Sy feiin ALz § e L ditn -4

biies vehicles?

e IL W B er by, @

e b A AL Gy
Lot S A S i)

e A AR TRy LIT )

‘e S 0T ()

LIGPS R AT L BE 80 {vi)
L2 L skdind b i e G o W (uii)
oL Fod i blre il
5x2=10 - Sy fliz AL 131 é& et Jitw -3
Y e SUL 35 0

LS L S A ik A iy

@ J:’bg‘ =olos J—;J/fu% 14 (Ili)

@Q -J._Lf__//“:‘:a Pt 55 gf?:‘ (iv)
&Y

&

A\

- do L A ( (Alkenes) v)
L oL S s A0 (i)
%z < g i)

(L2 fckin e sand oot (viii)

-« WUl A g S co, )

Lo L U1l 5h Bl 2 s (i)
~& sy Ve Jue el (i)

S Ul g e addl (v)

e lféc- videdhdrtc e 23 (v)
Te. Cﬁg i{;g;;ff CO, Lt U Il (vi)
_Z:f_fp',?’;‘»f ‘)“;ﬁ'ﬂ; Jjéé._) (vii)

NH Cl+ Ca(OH), ——» 9

& 15, Ly (i)

(o - S
Note: Attempt any two questions. 9x2=18 Ll fer v 8 _ud
Write down the Macroscapic characteristics of Dynamic Equalibrium? (#5) L Yk .;yr"'b{;;f?tf EASEI 5 Qs
Write the Reaction of Acid with the following. (Aa) w-‘,f”.:.uwé ECL S35t ()
1=2n &5 2=A &% 3=caco, A A=FeS il
Write five uses of acetyiene. (45) T f;,g L (acetylene) o2 s (D6

What are amino acids? What are essential and
non-essential amino acids?

(42

R FF gt K250 (L)

- _‘/ . ) 5 :“ .’7‘
How crude oil is refined? Explain two important fractions (~5) ;-’i/r? Qs et e u_u_/d"/f- 5./ Oz

of petroleum along with their uses.

_Q)/..'.') Loy u/..‘:r Wil ot

Explzin the methods of removing permanent hardness of water. (£4) /ool SUR AL 0 S ons, Ui et S 0L ()

1088 - 1020 - 47000
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student wili be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) 3IONS Q-1
R./R R,/ R, K,/ K, K/K, — |K isa e drae 2K | 1
/‘A:’J\J:%{ J‘(ﬂ’b‘/ v"f!"{ur "U'J,’V" t}g{k/d,{' - J/ﬁw: 5 lr:%":E!Jchfa 2
S . §ibsx :Cu_'/tgr. L e When the magnitude of K_ is very small it
The amount of | Reaction will |All reactants will| Equilibrium |. dlest
products is go to be converted to |  will never | 'MdCAtes
negiigible completion products establish ; N
L LR L LSBT s
Na,SiO, Ca0 NaCl Na,CO, ggn {59 ’ _ Al
Which one of @- owing salt will use to dry a gas
; $
DS | et | oends | oende | @ e Jekce| 4
Complex salt | Mixed Salt Double Salt | Normal Salt f@%s an example of
. \j/!\4
> = (. o
90 % 80 % 70 % 60 e ruku ol | s
AN\ Amount of carbon in lignite coal is
NI | S Tk ﬁMJ/ e Orig = & P2 L (Alkanes) | 6
L sl Sk sl W Incomplete combustion of alkanes produces
Carbon dioxide | Carbon monoxide Carbon
and carbon black | and carbon black . dioxide only
wF 333 B ‘e e Ule L] 7
Sucrose Fructose Glucose Starch Which one of the following is tasteless?
L S Sz Jo Wyl St 8
Funk F.Crick J.Watson Lewis Who proposed the name of vitamins?
s o 1 W SV AL A S et il o
Four Three Two One Depending upon temperature variation,
atmosphere is divided into how many regions?
LT ot o€ oL P S grl L LSP 2 nulSizr st 3] 10
lodine Bromine Chlorine Fluorine Which one of the following gas is e th
used to destroy harmful bacteria in water?
4 gem™ 3 gem™ 2 gem™ 1 gem™ e dor FHustic b [}g ¢4°Cl 1
Maximum density of water at 4°C is
450 °C 400 °C 350 °C 300 °C ‘e tb S FELS LSS T/ | 12
Crude oil is heated in the furnace upto

1085 -1019- s8000 (1)
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Part I Jif 2
Answer briefly any Five parts from the followings:- 5x2=10 -q)}}avz;‘[.vz: ég c_éfc.uf J_J L -2
Define reversible reaction and give one example. e sl s S S )
in which direction reaction will proceed if Q¢ < K¢ ? ?J;z V. ..-/J.f{ 1§, In up‘J Kc,,lﬂ:‘:J Q¢ ur!u’glu/ S (ii)
Write two Macroscopic characteristics of forward reaction. -?_i: Z f:»!._u‘;.{ 1 Eors J u:{/ 3,946 (i)
Define “"Chemical equilibrium state". -z.-’ Uk b Nt ﬁjd,f IJ?{ (iv)
What is mixed salts? Give an example. SoJE U /"l/,‘wc (v)
Give Bronsted Lowry concept of Acids and Bases. -’féf J,’}._. };‘,ﬁ:’»l A2 $ad 2ads s (vi)
Write two uses of calcium chioride. -2;1: z /".-,UW»Z. E’I/:Kﬁ‘y (vii)
Which Salt is used to make "Plaster of Paris" Give formula -u:’gu:oli te-t i ¥L L byn ST 42 Uy (viii)
Answer briefly any Five parts from the followings:- 5x2=10 -y /zfetiz FL171 § e e L ditn -3
What is meant by catenation? Give an example of a Ll iSofbr¥ Lff&f_q. e (ﬁ«ﬁ{ (i)
compound that displays catenation. ‘ e J 3 t;f
Define functional group with an example. W - -L[f _a_!/"'J .;,/ J’a (ii)
Write the structural formulae of each of the following. -u.‘ﬁ@ WA KL p e S Sizue (i)
(a) n-butane  (b) iso butane %@ Lr A1) Fpn(h)
Differentiate between saturated and unsaturated hydrocarbons. kg Y2 2 DA 761052\ SessE sl s (iV)
Write one use of each of acetylene and chloroform. %5@ -ufadl.-"rf.,_ﬁ.._(l el m‘ul._-ﬂ JVJ (v)
Sk A6 (i)

g St S s (Vi)
U2 e L 3o LTK ATt (vii)
ollowings:- 5x2=10 - Sz felz L1z bt = e L S5tn 4

What are four fat soluble vitamins?

Write the structural formula of fructose. @
O;;

Write a source and a use of vitamin A.

Answer briefly any Five parts fro

Write percentage composition of d y volume. &l an,f Sin LBoisosr $ 8L s (i)
Give two effects of ozone depletion. LB febn L el gt (i)
State the major sources of CO and CO, emmission. & prr‘?iL LA L COul CO, (iii)
Define Scum. -’é;_( - /'"d' (Scum) f (v) Write four uses of water. Lo - Ub"llgéég (iv)
Define Gravity Separation and Froth flotation Process. -é _.g/"'J J’;4 u‘f;f'il)»l J’-’ ,,(C{_gf (vi)
How are slag and matte removed from the blast furnace &t L b S (matte) & 1 (Slag) e St (vii)
Define Calcination. Give equation. B S saho B P tendeS (vili)
Part I (s -~

Note: Attempt any two questions. 9x2=18 -qf(j’auz[,..-.mmc_ Jf -
State the Law of Mass action and derive equilibrium constant (28 £ 51,2 Ll -2 ol Gt ST Q-5
expression for a general reaction. S FE LSk
Write down four uses of Bases. D) e £y ()
Write down four sources of Alkanes. ) v oy ég L (alkanes) /q 0.6
Write down four uses of lipids. (A4 & _/fo gl Ly (L)
How crude oil is refined? Explain two important fractions of ~ (/5) /‘E/(I iy, ﬁ:ﬁ ‘e b e IS nS Q-1
petroleum along with their uses. _q/ =>los J = u&-:‘l»!rt[_
Explain four important waterborne diseases. Lo g =l Sure Aol sty 2 14 &5 ()
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
0°C 4°C 100 °C 120 °C te drntienli §HE A £4U7] 1
At which temperature density of water is maximum?
s | il | b | e 2
Mixing Separating Boiling Cooling Concentration is a
technique technique technique techniqug*s 5 E =
mol dm® mol” dm® mol™" dm™ mol dm® Lk J#’l Lk PCls - CLPCl 3
Fora n between PC{, I u"‘:_'
<%&§Sm form PC¥,, the units of K_ is
B Z:-/; (s )‘%S@j\) = b ST Kok K| 4
Density Temperature Volume {S@ e |The value of K, depends upon.
HSO; HSO; 0\%04 ; Se. AN L G TS | 5
Which ion is the conjugate base of sulphuric acid?
Ut LA Lominl et i | 6
Lemon Grapes Apple Sour milk | Lactic acid is found in
Sdlabgd | Gocenm el & e W ser e LS| T
Anthracite Bituminous Lignite Peat Which one of the following is the hardest coal?
CsHy, CiHq CqHg C,H, ‘-'é- MJK’J:"& bp,'.fuf .
Which one of these is a saturated hydrocarbon?
b 3y Ay 1T 1 e 1 F e s | 9
Vitamins Lipids Proteins Carbohydrates | Which one of the following is a triglyceride?
D/ ts Cuts E/ts Ayt e el este 2 d Sty | 10
Vitamin D Vitamin C Vitamin E Vitamin A | Night blindness is because of deficiency of
Rovs Ayt Rt Ve ‘-'q-/f“’vdf{ﬂcﬂét’&ﬁi i1
Thermosphere| Troposphere | Mesosphere | Stratosphere |Justabove the Earth's surface is
MgSO, MgCO, CaCo, Ca(HCO,), e S SUANGA | 12
Temporary hardness is because of
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Answer briefly any Five parts from the followings:- 5x2=10 ..q/;/’..-,uzf"’é 1Z1 &g .::,ch.gﬁdi s -2
Write two macroscopic characteristics of reverse reaction. -:—.‘f..f g/“.:«l_.ay": .._f s Ko J Lfgz Jogs (i)
How dynamic equilibrium is established? St (” G‘d: ﬂ/’d:f ILE (i)
Differentiate between reactants and products. e O/ WupnLl ;f(i:{ s xSl g (i)
How is active mass represented? Write its units. : _ufafg Ly e bl l_f b c: futiﬁ (iv)
Which kind of bond is formed between Lewis acid and base. Give example. Lt AU s st (v)
Write down formulas of the following. (a) Nitric acid 2AL6(L) sk /"t(..ill).u.“7 b L S5 (vi)
(b) Phosphoric acid (c) Calcium Hydroxide (d) Aluminium Hydroxide 2 Tk fg:éf(:) ST (fk' @)
Describe Bronsted Lowry concept of acids and bases. -'jé Uk Enl jadl, )’ K Sz (vii)
Write down two uses of sodium chloride. & e L sz sy (Vi)

Answer briefly any Five parts from the followings:- 5x2=10 -Qf( ez AL 17 é«g adfc.uf Jits -3
Write the general formulae of alkanes and alkyl radical. Y %‘a L Lﬁéjdllﬁl»!(alkanes) /ﬁ (i)
& e figivern FadSE i)
Write percentage of carbon in peat and lignite. 0&&% -u:'g C:':; J DI 1940 l.'».on'.:«_; (iii)
Write the structural formulae of the following. -g.‘"’rL.r/lid/{ K52 (iV)
(a) Glyoxal (b) Oxalic acid @% ST T

Q 215, L (Ethene) 21 (v)
,?u"(dg (vi)  How margarine is prepared?< bl VoL A (vi)

Write one use of each of bituminous and anthracite.

Write two uses of ethene.

Why rancid butter has a foul smell? -

Write formulae of Palmitic acid aric acid. -u.‘dLnGL 22 SF 3l 12 JZJ!; (viii)

Answer briefly any F rts from the followings:- 5x2=10 ,qu/’.-,;uzf‘"& 1Z1 &l'. c:-J/:.-‘ﬂJ_'JZwJ -4
Write names of four natural systems of our earth. & tl ijzlgé Lidda (i)
Write two sources of oxides of carbon. “E  Femn LS TL K i)
Define ozone and ozone layer. -2:: ..,«,//'"J j-.! aishaslsisl (i)
Define hardwater and softwater. ..’cff u}{/"'g,(/‘l; 2yl My i (iv)
Mention the disadvantages of detergents. -?;f et u"a}.} (v)
Give Formulae of chalcopyrite and copper glance. -a"’ L.r/liz:u)w'{b’ulc.f lfg ;@ (vi)
Write Raw materials of Solvay's Process. L&l 'J.A L J"i{ <L (vii)
How is "CO," prepared in the Solvay's Process. -5 th J ;L:d__f "CO," & J’s{ b (viii)

Part I (» -2

Note: Attempt any two questions. 9x2=18 -q)}/.-,pzz.’..-.uwa. Jf -
Write down Macroscopic characteristics of dynamic equilibrium. (/5) _af .:.-'l_ar‘;.{ foY N Aok sen O.s
What is a salt. Give preparation of soluble salts in detail. (#4) .2/ J:“ﬁfz? Ju’”v‘)-’-’r-g. e ()
Write down five uses of ethene. (#5) & o Ui ég L (ethene) %1 (-6
Write down sources and uses of protein. ) & ety & fsy ()
Write a note on fractional distillation of petroleum. (/.‘7 5) -&U :,;;4 u’—"-’bj J;‘/J ff:  fx 0.7

Explain the methods of removing permanent hardness.  (,£4) Sl e SunpLi S fjfuf;‘/!, iy (&)
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Use of ink remover or white correcting fluid is not allowed.
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(D) (&) (B) (A) QUESTIONS Q-1
2.1% 4.0 % 02% 0.6 % DSy VA S ol U IO S
Potable water on Earth is only _ of total water
50.170°C | 20-470°C | 30-80°C | 170-250°C | e GBIt 2
The boiling range of petroleum ether is
R /R, R,/R, e K /K~ |K,is always equal to e Ondz 20K, | 3
« 72 CaO o151 ¥ CO,| eFd CaCo, | =aZznnli The giv@@.p Sin LS8 Lo a
CaO0 is not & b (" ok Ca0 High rea ‘o@es to completion because of
‘ dissociated | CO: fescapes Cset];)bli: :!r_:g;e temperature <§$§§ (s) _A--) CaO (s) + CO, (9) |
] continuously CaCo, <\ﬂ\<€ |
| Y 2k LIt IS -« JeKCl| 5
| Complex salt Mixed s * Normal salt ble salt |KClis an example of
| 14 Y | /&\\ \* 6 pH of neutral solution is - pH SorJrl 6
90 % 80 % @1\.  60% e Skt e fi| T
Y 5 - il Amcunt of Carbon in Antheracite coal is .
o i e sf Ul e LSt B
CaHs C.H, Catls CH, Which one of the followings is an unsaturated
T hydrocarbons. B
Vitamin E o/t | Vitamin D/t | Vitamin A/ | Vitamin B ¥ | Water soluble vitamin is -t J-"Jr/‘l; i
C5HayCOOH | €, Hy;,COOH | C\;HysCOOH | C,/HCOOH - Ui 10
The formula of stearic acid is .
e dp e At et E Ul | 1
s N &0 B0 Which gas protects the earth's surface from
ultraviolet radiations .
u:',t‘t_? it - by -Q.Gcﬂc/.t‘v@’/"q_ (j’_,.— KL aar S guf | 12
Hepat'itis Typhoid Cholera Jaundice | Which disease causes severe diarrhea and
can be fatal. e

1065A.-1018- 45000 (3)
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Part I J:i i -~
Answer briefly any Five parts from the followings:- 5x2=10 -4&}.—4&/‘"’&2! ég ‘;.J/.—_ut‘).s G -2
Define reversible reaction and give an example. 22 J@.{'}:léf.:.»;!flfuigf G Kot (i)
What is relationship between active mass and rate of reaction? e JLJ k_/ Lol ui{ 1Saast Jb £ (ii)
How we can predict the direction of a reversible reaction? ‘Ut 25/4’ df U J ;/J ;{ ny Jﬁg/r’. (iii)
Differentiate between reactants and products. e J) l_/ugmé u:/:'g W25 (5, {iv)
Define pH. What is the pH of pure water? : %« pH Jdg Se.zE i 8 pH (v)
Write down two uses of sodium chloride. & i L L sy (Vi)
Write the chemical formula of Mohr's salt. B fUr dl:{ K2l pr (vii)

Describe Bronsted Lowry concept of acids and bases. -é Wzt iidl, )’ K ($ay- s (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -q)}i.:m/’}ﬁfz' ék cdfr..u‘.’ J_J s <3

Define aromatic compounds, give example. Esbe U ikS st i)
Give two uses of coke. A psn L S (i)
How are Alkyi radicals formed? Give example. C@/_:Jt‘/ug g B I 1)
What are addition Reactions? Give example. @@ (s Jeu VrEIgRal (iv)

ka7 ()

Write down the formula of oxalic Acid. @O
O o~ »
N\ae PSS N (Vi)

Define Carbohydrates? @

Give the general formula of Amino Acids. %S &y J2¥ A2 A (vii)

Write down the sources of Vitamin A. S @ L frr LAYt (Vi)
Answer briefly any Five parts from the Qz- 5x2=10 -q/(fowﬁ‘l 1z ég ;.Jfauld_’} L A

& fetinl SO, (i)
e AP

Write two effects of SO,.

‘Define pollutants. Give two exampl

Define ozone and ozone hole -’4-’: J‘,‘-’}J Jre sisl st s st i)

Write the cause and effect of Fiuorosis. -2;.//: Hsl 29 J u‘-’u}; (iv)

How temporary hardness is removed by boilling. s Cﬁlg g f’ (,}’L/ 1 JELQ d;/,jc. i J’i:: (v)

Write two uses of Petroleum Ether. & ;f.:, Yot L A (f:/‘:; (vi)

How granulation of liquid urea is done. - &lg J Z,)"f ﬂ::/ J Ly c‘jl {vii)

Define Minerals and Gangue. -2;( ufﬂf L 11 2 (i)
Part Il » -

Note: Attempt any two questions. 9x2=18 ..g,{/{i:a&!i:& =llyrne. éf Oy
State the Law of Mass action and derive equilibrium constant  (/s) £ =1, 2 Ll 25 ol Gt T 05
expression for a general reaction. -éff_:jé!w:’-/{(-l Oy Gkl
What is Salt? Explain with examples the following saits. (o) & ol Yt S Sioire YeIb (&)
(i) Double Salts (i) Complex Salts e oSSy Seds )
Write Five sources of Alkanes. (#5) o é& L (Alkanes) /U' 0-6
Write note on oligosaccharides and polysaccharides. ) .zt .//7._‘,:74 J:tr";d.;'ul 5515500 (&)
Write down the procedure for manufacturing of sodium carbonate by Solvay's process. ~ (/25) 2y Fu YL et ¥ fire Sy Al -7
Write two methods for removal of temporary hardness of water. (A9 e LS f’ UJMJ(#'J dt (&)

SOp-te-1-2018 TO066A 1018 45000
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:

fill that circie in froni of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

wil! result in zero mark in that question.

Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) {C) (B) (A) QUESTIONS Q-1
Ca(HCO,), Caco, MgCO, MgSO, —e AL 1
Temporary hardness is because of
400 °C 450 °C 300 °C 350 °C e b/ EELS RIS TS| 2
Crude oil is heated in the furnace upto
Z',/ J,’{ Ve ¥ @ -c(,tﬁ.f/ﬁj{-j:!' 3
Red Purple Green Blue c@io ,gas is.
2E.x S PR e aJLTOQ \O tWrVerd 18 in 0. <K, fil 4
Speed up Equilibrium Reverse Forwar@\ If Q. <K, what will be the direction of
gradually state % reaction?
s V.u} il Lo QMJ:' f‘a N -~ -c.t'btl/ll/ufu- 5
Malic acid Citric acid Formic Uric acid }!Vhlct?‘ao_pgi found in apple?
HSO; HSO; @ ‘ " R ULt B
A4Fhe conjugate base of sulphuric acid is
s i Iy WA Lag & U L dijg 7
Dalton Berzellius Rutherford Wholer in laboratory urea was prepared by
22 L PPN Jd S e Ve 22T T (Akenes) | 8
Formic acid Oxalic acid Glycol Glyoxal Oxidation of alkenes produces.
AE B 37 nk e trie bl LS| 9
Glucose Starch Fructose Sucrose Which one of the following is tastless?
Ev/ts Du/ts Curts At ‘e drFneste S| 10
Vitamin E Vitamin D Vitamin C Vitamin A | Night blindness L;, because of deficiency of
sl v p VY Jort e f«j’vui’{:hﬁh—(—(lj’dlufi 11
Troposphere |Thermosphere| Stratosphere | Mesosphere |Just above the earth's surface is
24Jg7K" | 24KIg'K' | 42Jg"K' | 42 KJg'K! T d"{ e S &g 12
Specific heat Capacity of water is.

S6p
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Part -1 ol -

Answer briefly any Five parts from the followings:- 5x2=10 -//z/= {2 &L 171 élv. c..(jfc.u:J.:‘ L 22
Why reversible reactions never complete? *‘Zf'.‘g:’w[ ..El):{“,-:-( 18 FFots (i)
What do you mean by equilibrium constant? Se iy Ve 2oty “ ﬁ&j}.’ I (i)
What represents the very small value of K_ for a reaction? vd £ o I [_—,,r & KA, d (iii)

‘e S0
What is static equilibrium? Explain with an example. S 2oy s B S YES UK B (iv)
Write two limitations of Arrhenious concept. -2 500 J:, )’Lfﬁ’/! (v)
Write two physical properties of acids. 24 .;t_,n"'u‘?» J Jal (vi)
Write two uses of pH. & g L pH (vii)
What are mixed salts? St LV AL A5 (i)

Answer briefty any Five parts from the followings:- 5x2=10 -q)}iaym/"ziizu ‘g c.tj/c.pﬁd_'i Lo 3
Define isomerism. Y AT (i)
How carbon completes its octet? e 3/ ch_r e TLiK (i)

What is destructive distillation? QC%\ e V30 (Gii)

Write down two uses of methane. -é ./f..-,m.-H»L (_,cif (iv)

Write two physical properties of Alkynes. o {&ﬁ}o -é '//l-,yﬁd-" »d (Alkynes) A8t (v)
Write down the general formula of amino acid. @% -y f Ursb J 2K L2570 (vi)
What are advantages of fats soluble vitamins? @%5 ' HIUL b ijr..'.é (vii)
How is gelatin obtained? @ e G Ak (viii)
Answer briefly any Five parts from I<c>>wings:- 5x2=10 -q)}/’..puzﬂ[_ 171 &g a.ch.ut ;ZI o -4
Name the different spheres of atmo : -grt Lust) frGBL A (i)
What is green house effect. e ey o/ (i)
Define Acid rain. _ -é..y}Jq,;/.: (iii)
What do you mean by Fluorosis? ud, Vo Ta uib (iv)
Why non-polar compounds are insoluble in water? L u.‘fd’ U 93 Jg J,‘c:g/g Wt {v)
What are Minerals? g Lnldp (vi)
Write the two uses of Kerosene oil. -J_)}f.—.« UW'»LJIW:’;[ (vii)
What is Fractional Distitlation? ' - Y 5(,}"‘"{)' (viii)
Part I [+ .~ -~
Note: Attempt any two questions. Ix2=18 -q/(/.:.uzé.:,mmc_df Y
Describe five macroscopic characteristics of dynamic equilibrium. ) 2k ..-,y;';v__,f 1292 ég SEAuki v ()5
Describe two methods for measuring pH of solution. (A B L i S ¢ pH Nl ()
Write five physical properties of Alkenes. ( / 5) -’:ji: _//‘-.:,LJ:"‘ dfb (‘;g g (Alkenes) ,¢UI -6
Define Amino Acids, Amino Acids are building blocks of  (£4) t ik £ £ by si2i Ay S s P si 70 (o)
proteins, explain. wtd Seolis
Write a detailed note on ammonia Solvay's Process. (~5) _u_‘/_/f-_w" e L U5y -7
Give four effects of water poflution. (A£4) NV L ()
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